Автор: Литвина Надежда Егоровна. 

Место работы: МАОУ «СОШ № 71» г. Перми

Должность:  учитель начальных классов

Возраст детей: 8-10 лет

1. РЕШИ ВЫРАЖЕНИЯ:
	35 : 5 + 36 : 4 - 3
26 + 6 х 8 – 45 : 5
	24 : 6 + 18 – 2 х 6

9 х 6 – 3 х 6 + 19 – 27 :3


2. РЕШИ ВЫРАЖЕНИЯ:

	48 : 8 + 32 – 54 : 6 + 7 х 4

17 + 24 : 3 х 4 – 27 : 3 х 2
	6 х 4 : 3 + 54 : 6 : 3 х 6 + 2 х 9

100 – 6 х 2 : 3 х 9 – 39 + 7 х 4


3. РЕШИ ВЫРАЖЕНИЯ:

	100 – 27 : 3 х 6 + 7 х 4
2 х 4 + 24 : 3 + 18 : 6 х 9
	9 х 3 – 19 + 6 х 7 – 3 х 5
7 х 4 + 35 : 7 х 5 – 16 : 2 : 4 х 3


4. РЕШИ ВЫРАЖЕНИЯ:

	32 : 8 х 6 : 3 + 6 х 8 – 17

5 х 8 – 4 х 7 + 13 - 11
	24 : 6 + 18 : 2 + 20 – 12 + 6 х 7
21 : 3 – 35 : 7 + 9 х 3 + 9 х 5


5. РЕШИ ВЫРАЖЕНИЯ:

	42 : 7 х 3 + 2 + 24 : 3 – 7 + 9 х 3

6 х 6 + 30 : 5 : 2 х 7 - 19
	90 - 7 х 5 – 24 : 3 х 5

6 х 5 – 12 : 2 х 3 + 49


6. РЕШИ ВЫРАЖЕНИЯ:

	32 : 8 х 7 + 54 : 6 : 3 х 5

50 – 45 : 5 х 3 + 16 : 2 х 5
	8 х 6 + 23 – 24 : 4 х 3 + 17

48 : 6 х 4 + 6 х 9 – 26 + 13


7. РЕШИ ВЫРАЖЕНИЯ:

	42 : 6 + (19 + 6) : 5 – 6 х 2

60 – (13 + 22) : 5 – 6 х 4 + 25
	(27 – 19) х 4 + 18 : 3 + (8 + 27) :5 -17
(82 – 74) : 2 х 7 + 7 х 4 - (63 – 27): 4


8. РЕШИ ВЫРАЖЕНИЯ:

	90 – ( 40 – 24 : 3) : 4 х 6 + 3 х 5

3 х 4 + 9 х 6 – ( 27 + 9 ) : 4 х 5

(50 – 23) : 3 + 8 х 5 – 6 х 5 + ( 26 + 16) : 6

(5 х 6 – 3 х 4 + 48 : 6) +(82 – 78) х 7 – 13

54 : 9 + ( 8 + 19) : 3 – 32 : 4 – 21 : 7 + (42 – 14) : 4 – (44 14) : 5


9. РЕШИ ВЫРАЖЕНИЯ:

	9 х 6 – 6 х 4 : (33 – 25) х 7
3 х (12 – 8) : 2 + 6 х 9 - 33
	(5 х 9 - 25) : 4 х 8 – 4 х 7 + 13
9 х (2 х 3) – 48 : 8 х 3 + 7 х 6 - 34


10. РЕШИ ВЫРАЖЕНИЯ:

	(8 х 6 – 36 : 6) : 6 х 3 + 5 х 9
7 х 6 + 9 х 4 – (2 х 7 + 54 : 6 х 5)
	(76 – (27 + 9) + 8) : 6 х 4
(7 х 4 + 33) – 3 х 6 :2


11. РЕШИ ВЫРАЖЕНИЯ:

	(37 + 7 х 4 – 17) : 6 + 7 х 5 + 33 + 9 х 3 – (85 – 67) : 2 х 5

5 х 7 + (18 + 14) : 4 – (26 – 8) : 3 х 2 – 28 : 4 + 27 : 3 – (17 + 31) : 6


12. РЕШИ ВЫРАЖЕНИЯ:

	(58 – 31) : 3 – 2 + (58 – 16) : 6 + 8 х 5 – (60 – 42) : 3 + 9 х 2

(9 х 7 + 56 : 7) – (2 х 6 – 4) х 3 + 54 : 9


13. РЕШИ ВЫРАЖЕНИЯ:

	(8 х 5 + 28 : 7) + 12 : 2 – 6 х 5 + (13 – 5) х 4 + 5 х 4

(7 х 8 – 14 : 7) + (7 х 4 + 12 : 6) – 10 : 5 + 63 : 9


